=
<

2 ! 5 [ I
Q11 Tt s g
2— ALl : : 8 L ...
5 | Z | ©
ad E E 10—1 .
e ] (THe |
10721, it :
i 1 1025
LB W L b LB B LD
o LU0 o L1.Uof
T r i T r
2 r : 2 r
0923 a1 0 1 2 3 0923 a1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
—s=— DQM_V0001_R000000001__Global_CMSSW_X_Y_Z_ allNODNN
—— DQM_V0001_R000000001__Global__CMSSW_X_Y_Z_ all
-~ 1 = 1
= F g B
2 r e
N -
S o
> - B
1071
91€)\—"%_||||||||||||||||||||||||||||| Qloag’_uuuuluuuul|||||||||||||||||||
T r T r
x r . @ r
0953 10 1 2 3 0953 10 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
~ 1
2 :
i
o
=)
o}

Ratio

2 -1 0 1 2 3
TP n (PCA to beamline)

T



	Contents
	Page 1


